September 15th

5-a-day

A clock shows this time, in the
afternoon.

.

Write as 24 hour time.
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Find the size of y.
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What type of triangle is shown?
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Simplify Simplify
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Fruit  Frequency

Apple 8
Banana 6
Mango 5

Draw a pictogram to represent:
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September 15 5-a-day Foundation
Estimate {OO X 3 | ()OO
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The ratio of red beads to green beads on
a necklace is 3.7.

Cn large necklace there are 28 green
beads.

How many red beads are there?

A medium necklace has 10 red beads
and 20 green beads.

James has 62 red beads and 97 green
beads.

How many medium necklaces can be
made?
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Martin drove 13 miles in 15
minutes.

What was his average speed?
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Find x and y.

Y (dem
Y= Gim,

Factorise x® + 2x - 8

(2+4)(1-3)
N

Factorise x - 81
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When A =00, B =27.

Find A in terms of B. em:-h:f‘s
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Calculate bearing of B from A. o ql
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A is directly proportional to the cube
root of B. R= 3 0
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G:Icul the ml:.nj of the cone.
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